IERX% T 1 1 Al #H il B % H =
(LR (LRIL2) (LARILY) (LR)LY) (LARILD) #H HE HEtHE i
B
EEsT = 1 1
LT m3 406
EERIEAI m3 406
BEMIEEIT (VNy o 7RD) 1LUFE0. 28m3 [FFE 0.20m3] m3 405.7 406
EHRIER m3 212
BIEEEABRT Ny o KRY) 1LFE0. 28m3 [FF 0. 20m3] m3 211.9 212
RELTHNIE m3 406
FEELTNHT 418, /Ny ¥ R 2ILFE0. 28m3FEA m3 405.7 406
BRIZAicONIE m3 405.7 406
EmET = 1 1
PCRy o R B ILA— b =R 1 1
BER 1800 x 1500 x 2000 (FE=5. 52kN) {& 21 21
ERMIG 1800 x 1500 x 800 e 1 1
R T & 1800 x 1500 x 1000~1325 & 3 3 HEIIRESE
AT & 1800 x 1500 x 2000 & 1
MY - BAMI & 1800 x 1500 x 1825 1
BIMI & 1900 x 1500 x 2000 & 1
RIS 1900 x 1500 x 681 e 1
BT E 2 b AR 1800/1900 x 1500 x 250 & 1
ML PCRw 4~ X AJLs8— + [OB1800 xH1500 R I X 5@ = 1
11800 x H1500@5. 63t/18& m 62. 11
PCRw 4~ X AJLs8— + [OB1900 xH1500 R IR 5@ E 1
11900 x H1500@5. 78t/1& m 2.69
BEERT = 1




SHATERZAJLERT 1800 SHAT Yy RERE 85kN/milE m 62. 1 62
011900 SHAT Yy BERE 85kN/milE m 2.7 3
avyy—+ = 1 1
011800 #LCo 18-8-25 W/C=<65% m3 21.43 21
011900 #LCo 18-8-25 W/C=<65% m3 0.97 1
B o = 1 1
Box #LCo m2 19.44 19
HERLIBET =® 1 1
&R+ 2 m 64. 80 65
MEIRITIAT #® 327
SP-T L=4.5m BHEZRHE/ NS IO L3
SP-T L=5.0m BHEZRHE/ NS IO ® 327.0 327
MEIRE IR T #® 0
SP-T L=4.5m #® 0
SP-T L=5.0m #® 0
MERTEHES
t 48.43 48
RY S5y JEE SP-T L=4.5 5.0m t 23.54 24
SREAR VI T m 130.80 131
SP-TI
REMEBEE m 64. 80 65
LB R - L REHE t 17.35 17




REET = 1 1
BIR m2 324.0 324
MD-3000 x 1000 x 200 (4@#5& %) t 67.39 67
BIRSH7|H-350x350x 12x 19 t 21. 44 21
Mr52#71|H-300 x 300 x 10 x 15 t 12. 96 13
F 5 [RC-40 t=15cm m2 38.88 39
FRERERT BBEER)IFLUE (REFR) ¢600 m 94. 50 95
ToS5IT /MO m2 16. 16 16
KERY TI| $200-11kwx 3& [E=0z00 1.00 1

BRERFR/KERRIE T
BEYRYELI |#Ha>oU—+ m3 120. 65 121
@2. 5t/m3 t 301. 62 302

HiERE

HEREE = 1 1
EgE = 1 1
R ER SR 41 E ik t 93.84 94
fEiAH - IRENL (fFER) t 93.84 94
= 1
R ER S 41 E ik t 21.86 22
EiAH - IRENL (1BER) t 21.86 22




BB T I % = 2
[2] No. 11+ 7.76~No. 14+12. 08
] B # B =
(DIMABER|  TKX X [H] AR BEHRIE
FETJEL7 74,75 01800 No. 11+ 7.76~EC4 3.90 54.02
I 75 [J1800 EC4 ~No. 14+6. 34 4.10 = 5.04
I 75 [J1800 No. 14+6. 34 ~No. 14+9. 39 4. 60 = 3.05
METJEL8 93 [O1900 No.14+9.39 ~No. 14+12. 08 4. 80 2.69
REIZER
BHIZERR = 64.80 m 64.80 m
(2) #EEI [ BH 0.28m3
A TBH fime IR fimER
e m X m X m m3
2.50 m X 5402 m X  3.90 m = 526.70 m3
2717 m X 504 mX 410 m = 56. 00 m3
2.86 m X 306 mX 4.60 m = 40.13 m3
2.87 m X 269 m X 480 m = 37. 06 m3
SESHIE Y ELBIFE I TR it = 659.9
peiy| BERR/KHEUL500 X 1400 A= 1.823m%*/m  NOKBSITERNLCAD Y 7 b % FICHRLH,
1900
00 1500 20
mr | “\ I E—
\ g
\ . =
L7 Ry
: S
WQ‘O 2400 IL)O
2600
JERL= 7K BR R EHEA=1. 823m2
54.02 m + 5.04 m + 3.05 m+ 2.69 m =  64.80 m
PN o) 1.823 i/nx  64.80 = -118.13 m3
MZe 1.50 x 1. 40 X 64. 80 -136. 08 m3
+&E 659.9 m3 — 118.13 m3 — 136.08 m3 = 405. 7 m3 405. 7 m3




| B E A # =
(3)HEE L T| BH 0.28m3
WO L HRGTLIE FRHIAE R HRHEIIEB
i m X m X m m3
2.13 m X 5402 m X 3.90 m = 448.74 m3
2.34 m X 504 m X 4,10 m = 48.35 m3
2.499 m X  3.05 m X 4,60 m = 34.93 m3
2.50 m X  2.869 m X 4.80 m = 32. 28 m3
= 564. 3
ezl 1800 % 1500 L=(0. 00+54. 02+5. 04+3. 05)
i 2.10 m BX 62.11 mLX 1.80 mh = -234.78 m3
BEVIY 2.10 m BX 62.11 mLX 0.03 mh = -3.91 m3
HoRECo 2.30 m BX 62.11 mLX 0.15 mh = -21.43m3
Sty b 310 m BX 62.11 mLX 0.40 mh -77.02 m3
| 01900 x 1500 2.20m BX 2.60 mLX 1.80 mh = -10.65m3
BN 2.20m BX 269 mLX 0.03 mh = -0.18 m3
HRECo 2.40 m BX 260 mLX 0.15 mh = -0.97 m3
HeRtEey b 3.20m BX 269 mLX 0.40 mh = -3. 44 m3
= 211.9 211.9 m3
W) F sy T
R R
405.68 m3 = 405. 7 m3
= 405. 7 405. 7 m3




b

feio

3 A
SE PR O FE R [HREES. 50m]
AR il A XHIELE [ #RAIZEH (m) wf E |WEFH
#Z|  _E¥ENo. T iENo. (m) | EJi T i (HXm) H (m)
71
No. 6+ 4.00 ] No. 6+ 5. 00 1.00] 2.921 2.92 2.920
No. 6+ 5.00 No. 7 15.00] 2.921 2.90 43. 650
No. 7 No. 8 20.00] 2.90{ 2.92 58. 200
72 No. 8 BC2 16. 17| 2.92f 2.95 47. 459
BC2 No. 9 3.69] 2.95 2.95 10. 886
No. 9 No. 9+6. 45 6.31] 2.95{ 2.97 18.678
No. 9+6. 45 Sp2 5.30] 2.971 2.97 15. 741
SP2 No. 9+7. 35 5.31] 2.97{ 2.92 15. 638
No. 9+7. 35 No. 10 2.58| 2.921 2.85 7.443
No. 10 No. 10+2. 42 2.42| 2.85! 2.85 6. 897
3| 77.78 227.511 2.93
SE PR EIAE O B E ORAD [HREI0ES. 90m]
PR Hi A XHMEE | #RHIE (m) fif B |RIEFEH
*HH | iiNo. T ¥itNo. (m) | ki T (HXm) H (m)
72
No. 10+2. 42 EC2BC3 5.00| 2.85{ 2.57 13. 550
74 EC2BC3  iNo. 10+13. 45 6.00] 2.57{ 2.58 15. 450
No. 10+13. 45 SP3 4.49| 2.581 2.49 11.382
SP3 No. 11 2.25| 2.491 2.50 5.614
No. 11 No. 11+2. 17 2.24| 2.501 2.50 5. 600
No. 11+2. 17 EC3 6.00] 2.50f 2.45 14. 850
EC3 No. 11+13. 20 5.21| 2.451 2.50 12.895
No. 11+13.20i  No. 12 6.80| 2.50i 2.50 17. 000
No. 12 No. 13 20.00| 2.50/ 2.55 50. 500
No. 13 No. 13+4. 7 4.70| 2.55{ 2.55 11.985
75 | No.13+4.7 BC4 2.34| 2.551 2.43 5. 827
BC4 No. 13+10. 93 4.00| 2.43] 2.51 9. 880
No. 13+10. 93iNo. 13+11. 20 0.27| 2.51} 2.51 0.678
No. 13+11. 20 SP4 3.05| 2.51] 2.21 7.198
SP4 No. 13+17. 41 3.32| 2.211 2.21 7.337
No. 13+17. 41 No. 14 2.67| 2.211 2.57 6. 381
No. 14 EC4 1.33| 2.571 2.56 3.411
5 79.67 199. 538 2.50
SE PR EIAE O BLE ORAD [HREI0E4. 10m]
AR bl i XEAERE|  #REIAE (m) fif B} |REFEH
FHe |- iNo. F JiiNo. (m) | k¥ F ¥ (H X m) H (m)
75
EC4 No. 14+6. 34 5.04| 2.56i 2.86 13. 658
&t 5.04 13. 658 2. 71
SRR D B (A [HRMIIE4. 60m]
AR Hl J XIER |  SEHIGEH (m) fif B |REFEH
HF5[  EENo. T ¥itNo. (m) [ k¥ | Tl (HXm) H (m)
75
No. 14+6. 34 i No. 14+9. 39 3.05| 2.86] 2.86 8.723
B 3.05 8.723 2. 86
ARG O FE GRS [HREIbE4. 80m]
AR M A XHAEE |  #RHIEE (m) fif B |RIEFH
FH5|  _ENo. T itNo. (m)] E¥E | Tk (HX m) H (m)
93
No. 14+9. 39 iNo. 14+12. 08 2.69| 2.861 2.87 7.707
& 2. 69 7.707 2.87




K f1 &% I 2
[2] No.11+ 7.76~No. 14+12.08
] B 3 #H H =
(1) B L PCRw o XA JLs8s— k OB1800xH1500 [CB1900 x H1500 sk TX 4@
OB R R TR i ES
m
MELIE17 74,75 01800 No. 11+ 7. 76~EC4 m = 54.02
" 75  [1800 Ec4 ~No. 14+6. 34 m = 5. 04
" 75  [O1800 No. 14+6. 34 ~No. 14+9. 39 m = 3.05
FETIE18 93 1900 No. 14+9. 39 ~No. 14+12. 08 m = 2.69
EARER
BARRIERR =  64.80 m 64.80 m
Q@EtF 2 NI
e, 1800 X 1500 X 2000 (F £t5. 52kN) 27 18 27 &
FE RN L5 1800 1500 X 800 = 1 1 {&
SHIN T 5 1800 X 1500 X 1000~1325 = 3 1H 3 &
NALIN T 1800 X 1500 X 2000 = 1 A 118
A - AEFLIN AL 1800 X 1500 X 1825 = 1 118
REFLIN T4 1900 X 1500 X 2000 = 1 1 1@
B RN L & 1900 1500 X 681 = 1 & 118
W i 25 L AR 1800/1900 X 1500 X 250 1 1 118
= 36 1
(2) ATER X5 EARR I TREY .  HHERED @

2,

1 (m)

MR

-
[S1

50

.25

Ry TRDIL - A ZEIE - AZEE S

AZENE - NZER X 5

1.26<<B=2.5

1.26<<H=2.5
oy @
0<B=125 1.26<CB=2.5
0<IH=1.25 0<H=1.25
1. 25 2. 50 75
PIZEHE : B (m)

Hi L H2B R L YE [ -13-(D-16 X 0 $kFe5| A




B OB ® T
[2] No. 11+ 7.76~No. 14+12. 08
| B i A 8 =
(DEHEREL|] OFTFAX A VEEHEL
OHEMIC R TR T BHBER LR
m
WETIE17 74,75 11800 No. 11+ 7. 76~EC4 54.02m W3.10 =  54.02
" 75  [01800 Ec4 ~No.14+6.34  5.04m W3.10 =  5.04
" 75  [1800 No. 14+6. 34 ~No.14+9.39  3.05m W3.10 =  3.05
FETIE1893 11900 No. 14+9.39 ~No. 14+12.08 2.69m W3.20 =  2.69
EERIER
EMIEREEF = 64.80 m| 64.80m
W3.10 = 62.11
W3.20 = 2.69
QVATXAZ A NEMET
01800 3100 Wx400 t 62.11 m| 62.11m
001900 3200 WX 400 t 2.69 m 2.69m
WE LY
VA Y9N 11800 62.11 m X 10.00  m2/m 621.1m2| 621.1 m?
11900 2.69 m X 10.25  m2/m 27.57m2|  27.57 m?
AT 11800 62.11 m X 8.22  m2/m 510.5 m2| 510.5 m?
011900 2.69 m X 8.45  m2/m 22.73m2|  22.73 m?
@R Y- ¥ LCo 18-8-25 W/C=65%
1m4 b 001800 2.30 mX 0.15 m 0. 35 m3 0.35 m*/m
01900 2.40 mX 0.15 0. 36 m3 0.36 m*/m
01800 0.35 m’/m X 62.11 m 21.43 m3
01900 0.36 m’/m X 2.69 m = 0.97 m3
o= 22.40 22.40 m®
@HECHF| #J L Co
1m4 b 2 X 0.15 m = 0.30 0.30 m?/m
01800 0.30 m’/m X 62.11 m 18.63 m2
01900 0.30 m’/m X 2.69 m = 0.8l m2
o= 19.44 19. 44 m?




B E B T 3

felo

B B i @ | %
(1) LT CHETEREIAIIWEET 01800 x 1500 EEENE: 3.10m Ima Y HEEH
1) FpEFE T ATV R WEERRAE 85kN/mEd b
LS Bm = 3.10 m HEEEH= 0.40 m
R M7 >~ 708 Wrl= 1.00 m MEE AT 70E Wr2= 0.30 m
A7y ROBKIE=2.50 m  JFEE = 50.0 m

AP VAL EIS
OEREME| Al= 2 Bm + H) + Wrl

(Wi 8 =) =2( 3.10 + 0.40 ) + 1.00 Al= 8.00m
QIEEHH | A2=( Al X Wr2 ) X1/ (A Z Y v REBIE—Wr2)

7 v THE =( 800 X 0.30 )X1/( 2.50 — 0.30 ) A2 = 1. 09 m2
GIEEHM | A3=( Al X 1.0 +A2 ) X (1+#BossZE10%)

Im¥ Y & =( 800 X 1.0 + 1.09 )X+ 0.10 ) A3 = 10.00 m2 10. 00 m2
3) Kithg BET v h—r 48 /m = 4 A 4 K
TUH—

4) RieAR RiAr t=2cm

O R OHMEIE= 2.0 n  HEE = 50.0m 7 v 7l@ Wr= 0.10 m
QKMEFEME| DI= 2 Bm + H) + Wr

(Wrmm & &) =2( 3.10 + 0.40) + 0.10 D1 = 7.10 m
OMEEHM | D2=( Al X Wr ) X1/ (R&EEARBEIE —Wr)

Fy FHE =( 7.10 X 0.10 )X1/( 2.0 — 0.10 ) A2 = 0.37m2
@I F 18] D=( Al X 1.0 +D2 ) X (1+kF¥LossZ10%)

INERIE = =( 7.10 X 1.0 + 0.37 )X (1+ 0.10) D = 8.22 m2 8.22 m2
5) FESHFF | RC-40 t= 0.40m M BHLossZ20%

A= Bm X 1.0m
= 3.10 X 1.0m A = 3.10m2 3.10 m2
V= A X H X (1+#BLossZ20%)
= 3.10 X 0.40 X1+ 0.20 ) vy o= 1.49 m3 1.49 m3
6) Im24 V) K f I H - B | #=0m& yY)
M|CHFTUYE VB 85kN/mlE | m2 10. 00
BEE7 Hh—FE> X 4
H | A t=2mm m?2 8.22
o5 RC-40 t=40cm m3 1.49




B E B I 4

felo

B B i @ | %
(1) LT CHETEREIAIIWEET 01900 x 1500 ELTENE: 3.20m ImL Y HEEH
1) FpEFE T ATV R WEERRAE 85kN/mEd b
LS Bm = 3.20 m JEREEH= 0.40 m
R M7 >~ 708 Wrl= 1.00 m MEE AT 70E Wr2= 0.30 m
A7y ROBKIE=2.50 m  JFEE = 50.0 m

AP VAL EIS
OEREME| Al= 2 Bm + H) + Wrl

(Wi 8 =) =2( 3.20 + 0.40 ) + 1.00 Al= 8.20m
QIEEHH | A2=( Al X Wr2 ) X1/ (A Z Y v REBIE—Wr2)

7 v THE =( 820 X 0.30 )X1/( 2.50 — 0.30 ) A2 = 1.12 m2
GIEEHM | A3=( Al X 1.0 +A2 ) X (1+#BossZE10%)

Im¥ Y & =( 820 X 1.0 + 1.12 )X+ 0.10 ) A3 = 10.25 m2 10. 25 m2
3) Kithg BET v h—r 48 /m = 4 A 4 K
TUH—

4) RieAR RiAr t=2cm

O R OHMEIE= 2.0 n  HEE = 50.0m 7 v 7l@ Wr= 0.10 m
QKMEFEME| DI= 2 Bm + H) + Wr

(Wrmm & &) =2( 3.20 + 0.40) + 0.10 D1 = 7.30 m
OMEEHM | D2=( Al X Wr ) X1/ (R&EEARBEIE —Wr)

Fy FHE =( 7.30 X 0.10 )X1/( 2.0 — 0.10 ) A2 = 0.38m2
@I F 18] D=( Al X 1.0 +D2 ) X (1+kF¥LossZ10%)

INERIE = =( 7.30 X 1.0 + 0.38 )X (1+ 0.10) D = 8.45 m2 8. 45 m2
5) FESHFF | RC-40 t= 0.40m M BHLossZ20%

A= Bm X 1.0m
= 3.20 X 1.0m A = 3.20m2 3. 20 m2
V= A X H X (1+#BLossZ20%)
= 3.20 X 0.40 X1+ 0.20 ) vy o= 1.54 m3 1.54 m3
DY AN S ERE 85kN/milE | m2 10. 25
BWiEE7ZHh—FEY X 4
# (R t=2mm m2 8. 45
b & o #4 RC-40 t=40cm m3 1.54




T B M M M E R G A F
N R I A [ 1 Eil) % i ki b X e T
(4 & 5 ek e H % + 8 TR A ol B = N > S fE o L M J 2 Y M X R T s i N S 1
3 wOE " it ) IEN
#* HE 5 Al LR RE | M| E & e G| S w7y7° | SEE | MR L W | B g EY) EEE | EIES | RIS fiii %]
Z2 ik R | | & £ B FUE| # i T Bl WS B | & B R Ul &) o MR | HE R 2] % A | g g o [€V) (G)) it PR TR | i A
e M| ES
mm n n n n m n e t e t e t m t m t B K m t t t t t t t
74,75 No. 11 1800
Jits THELT [+ 7. 76m| EC4 |Box| 1500 54.02 [2.50]2.56]2.53] 3.90 || #fJHx MALE 4.50 271 58. 536 271 39.024 | 108.40 | 19.512 || H-250 108.04 | 8.643 | H-250 1] 25.0] 2.700 | 5.400 14. 043 3. 089 0. 562 17. 694 76. 230 17. 694
75 No. 14 1800
Jits TIE LT EC4 |+ 6.34m| Box| 1500 5.04 2.5612.86]2.71] 4.10 f| #%H 1A 5.00 26 6. 240 26 4. 368 10.40 | 1.872 || H-250 10.08 | 0.806 | H-250 1] 2.0 | 2.900 | 0.464 1.270 0.279 0.051 1. 600 7. 840 1. 600
75 No. 14 | No. 14 1800
Jiti THEL7 |+ 6. 34m| + 9. 39m| Box| 1500 3. 05 2.86]2.86]2.86| 4.60 || #i%tk 1% i 5.00 16 3. 840 16 2. 688 6.40 1. 152 || H-250 6. 10 0.488 | H-250 1] 2.0 | 3.400 | 0.544 1.032 0.227 0.041 1. 300 5.140 1. 300
93 No. 14 | No. 14
Jiti THELS |+ 9. 39m| +12. 08m| Box | 1500 2. 69 2.86]2.87]2.87| 4.80 [| Skt 1A 5.00 14 3. 360 14 2.352 5. 60 1. 008 || H-250 5.38 0.430 | H-250 1| 2.0 | 3.600] 0.576 1. 006 0.221 0. 040 1. 267 4. 627 1. 267
& WALE R 64. 80
LIRS WiE & WA IR WohE O
[m] (] [t/m] [t/m2] J=2#f [ml [t/m]
RGBT 0.250  0.10 0.0114  0.0472 H-200  0.20 0. 055
R AB IR 0.333 0.10 0.0142  0.0426 H-250 0.25 0. os0|[# AR 7Y 4.5
TR EGHAHINA  0.333  0.10 0.0216  0.0648 H-300 0.30 0. 100(85cHR %Y 5.0 327
H-350 0.35 0. 150)
AR TR 0.400  0.20 0.0480  0.1200 H-400  0.40 0. 200
S ML 0.400  0.25 0.0600  0.1500 TVUEE L 0.11  0.010) 327| 71.976 327| 48.432] 130.80| 23.544 10. 367 6.984| 17.351 3.816 0. 694 21. 861 93.837 | 21.861
Sk IVAL  0.400  0.34 0.0761  0.1900 AKEEHR -} (&) 0.009)




ITHEHESE 2
MEETIIR 2 M (EF #) il =
No. ER 2R TN BHuEE RS | AW = 72 N HEE RS | A% E | BE
(m) | MD-3000 X 1000 X 200(##54 %) (t/m) (m) | (X) ® t/m) | (m) | (K) )
FETIET7 5.00% 5402 = 27010 mi | H-350X 350X 12 X 19 H-300%300% 10X 15 | 0.1000| 54.02 2| 10.804
No. 11+ 7. 76~EC4 54.02| 270.1 X 0.208 = 56.180 t 0.1500/  5.00 20/ 15.000
FETIET7 500%504 = 2520 m | H-350% 350X 12X 19 H-300%300% 10x 15 | 0.1000| 5.04 2 1.008
EC4 ~No. 14+6. 34 504| 252 x0.208 = 5.240 t 0.1500/  5.00 3] 2250
FETIET7 500%305 = 15.25 m | H-350x 350X 12X 19 H-300%300% 10X 15 | 0.1000| 3.05 2| 0610
No. 14+6. 34~No. 14+9. 39 3.05| 15.3x0.208 = 3.170 t 0.1500/  5.50 3| 2475
METIE8 500%X269 = 1345 m | H-350%x350%x 12x 19 H-300%300% 10X 15 | 0.1000|  2.69 2| 0538
No. 14+9. 39~No. 14+12. 08 2.69| 13.5x0.208 = 2.800 t 0.1500/  5.70 2 1.710
3240 m
it 64.8 67.39 t 21.435 12.960
34.395 |#1#4
EEE 101.785%

No TR 17 H HE -l E = =
METIE7 HERA 3241 m2 |= 0.30 X 5402 X 2
No.11+ 7.76~EC4 54.02 RC—40 t=15¢cm 486 m3 |= 0.30 X 54.02 X0.15 X 2
METIE7 HERA 302m2 |[=030 X 504 X 2
EC4 ~No.14+6.34 5.04/RC-40 t=15cm 045 m3 |= 030 X 504 X0.15 X 2
METIET7 ERRa 183 m2 |=0.30 X 3.05 X 2
No.14+6.34~No.14+9.39 3.05/RC-40 t=15cm 027 m3 |=0.30 x 3.05 X0.15 x 2 &5t
METIE8 HERA 161 m2 |=0.30 x 269 x 2 38.88 m2
No.14+9.39~No.14+12.08 2.69|RC-40 t=15cm 024 m3 |=0.30 X 2.69 X0.15 X 2 5.832 m3




A Weran s IR
ERERL & =
No. 6+6. 40~No. 14+12. 08 %k &
IH H B A ¥ &
IR S T S
(1) fE TNE17 No. 10+2. 42~No. 14+9. 39m
D) B ERERY =F LA (NEETE) ¢ 600 = 91.00
it = 91. 00 91.0m
2) EAEME T FEEARY =F L E (NI TEIE) ¢ 600 = 91.00 m
it = 91. 00 91.0m
Nt+mHT +o 5 /JJhadE
0. 60 X 1.50 = 0.90 m2
1T 0.60 mB X 0.73mh = 44 m2
10m4 Y  {RE5mY Y 3FEIT 0 5
0.44 m2X 3 = .31 m2
91.00 m X 1.31 m2 /10m = 11.96 m2
i = 12. 86 12.9 m2
Rk LD 5 E
- 5.00 ]
b {RER KB gl
Tds @5 tTa +Td5

1.07m

| B=0.60m

1.07m




TH H i bk K A
IR e
(2) fE TE18 No. 14+9. 39~No. 14+12. 08m
D) B EEERY = F L E (N ¢ 600 3.50
7 3. 50 3.5m
2) AL T FEERY =F L (NEEE) ¢ 600 3.50 m
g 3. 50 3.5m
N toHLT +o 35 JhEapra
0. 60 X 1.50 0. 90 m2
0. 60 X 2.20 1.32 m2
0. 60 X 1.80 1. 08 m2
g 3. 30 3.3m2
DR THE
=T IKIEER T ¢ 200-11kwX 35 1.0 1.0 =FR
R 78R H i
YEE T BoxAiigk L. BT
1 H + 1 H + 1 H 3.0 3.0H




W = L & =

No. 6+6. 40~No. 14+12. 08[H Fk &

TH H B A ¥ Y
BERR /KBRS T8 &
(D) =T WEFEK LY
DIERT M CIEL7 74, 75 HE 63.50 m
it TE18 93 R 2.68 m
66.18 m 66.2 m
2) Coft % & FEWrER L v
74,75 KRR A= 1.823m2 X 63.50m 115.76 m3
93 BER A= 1.823m2 X 2.68 m 4.89 m3
3 = 120.65 m3 120. 6 m3
3) CoflLsy g7 Y — h@2. 5t/m3
74,75 FEHR V= 115.76 m3 X 2.5t 289.40 t
RIS 4,89 m3 X 2.5t 12.21 t
i = 301.62t 301.6 t




@TIX  NO.6+4. 00~No. 14+12. 08 T ﬂ;ﬁ % E & [6) EFE\ ﬁq’ H %{ D % E
SR ISR T B TAR Jiti THELL  NO. 6+6. 40~N0. 10+2. 42 i TIE1L8 No. 14+9. 39~No. 14+12. 08
fi Bl i il W% 1H %y Jiti TJIEL7 _ NO. 10+2. 42~No. 14+9. 39 i L =64.80m
AW TR 2E [ k]l B Ix Lol B B AakGH n & T B &k O 0 % 5
i TE R L= 64.80 m
i TAER L /fsAEH = 64.800 m/[H]
1 ASRVE O R o=
- I CIE - G
0 29
LETHRT | #&EL B 34.00 m2/H 324| 32400 9.53] 18.1 BT 29
AXIE T MM 6.20 t /H 34. 40 34.40| 5.55| 10.5[(28.6)
29 29 15 37
23
2. 8T | SRR 4.50 m 27.50 /A
AXIE T 5.00 m 26.90 #/H 327 327.00[ 12.16] 23.1](23.1) 30 50
6.50 m 20.00 e/ H 23| 23 21
7.00 m 18.00 #/H
ay/))-bHIEL T | ¢ 150 16.00 fL/H 38 54
3K % T | a0 I 6.10_t /H 21.86 21.86] 3.58] 6.8 TR 17
RiE LT
(17.2) 55 96
TR 0.28  BH 59.00 m3/H 17 17 12
0.45 BH 74,00 m3/H 406| 406,00 5.49] 10.4
97 112
16
5. pfiax L | M A 4.00 m /A 64.8 64.80] 16.20] 30.8
26.00 m /H 113 130
26.00 m /0 18
6. BR LR T 183,04 m2/ 649  648.67| 3.54] 6.7
248.53 m2/H 533 533.23] 2.15| 4.1[(41.6)
155,00 m2/H 42 42
THIERLL | # ik |k 33.00 m3/H 212 212.00) 6.42| 12.2
(16.3) 130 X 1.0 ~(C 20 + 18 )/ 2)= 107 + 9 = 116
8.k ¢ T [ &M M ey 10.20 t /A 21.86 21.86]  2.14] 4.1 16 16
WEL
9.1 ® T 2 — 15 ~(C 23 + 16 )/ 2)= 78 9= 87
WET
SRR 4.50 m 58.00 #¢/H
5.00 m 58.00 f&/H
6.50 m 48.00 #¢/H
6.50 m 48.00 #/A
$ 150 63.85 #/H
10. TR | #ET BN 56.00 m2/H 324| 324.00| 5.79] 11.0](17.5)
Riiz 10.10 t /H 34. 40 34.40] 3.41] 6.5 18 18
i L TSR T 11.00 m3/H 121 120. 65| 10.97| 20.8
(20.8)
21 21
11 i [1~10]D H# D& 66.76] 126.8] 127] 127| 127
12. K ¥ 2 H ¥ {(3,4)/2+(5~6)+(7,8) /2}
13, H OB %A MK ([11]- (T34, Bl /2)
14, SAM OB - B e 0H & b
5. #H B B % ([ ]-GTA, 518/ 2) + 9H




